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Math 10C Name: J( Q\,/

Review #1 Date:

Show all your work for full marks.

1.  Which of these numbers is irrational? Mark as either Q or Q above each radical or number. (2
marks)
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2. Write each radical in simplest form. {1 mark each)
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_ 3. Write each mixed radical to an entire radical. (1 mark each)
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4, Evaluate and show the steps. (2 marks each)

. [g]“’. b, (6%
Qia Ggarqz
2

- | )"
0§



5. Simplify. Write using powers with positive exponents.
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Expand the following: (10 marks)

a. (9x+1)(=5x+3) b. 3(2x+1)(x—10)

—45xF 43T~ Dt 3 (e +3) (3~ 10)
2~ 60Kt 3x - 30
g5 + Ad 13 ox™ = 60%
i” - B7T1L-30 -
c. (6x+2)(4x*-5x+7) d. (2x+3)(x—9)—(4x+5)(2x~1)

23 = 3053 +dax F8C -10X FH 22 gzl - Lo s 4oL -5

b - 235 B3t 14 A2 -15x ~2T - [ x4 bx —'5]
2,3 =15 -1 %1 ~bx t5
O

..._b)(_?' "‘51\17(- - aa

e. (2x+3)

(ant3) (2043)
2 b byt kT

Lix® HAe +T



8. Factor the following: (11 marks)
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9. Write the domain and range for each graph and state whether it is a function. (3 marks each)
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10. Given the f(x) =2x —1, determine the following: (2 marks each)
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